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10.

ANSWER ALL QUESTIONS
PART-A (10x2=20 marks)
Convert (41.513)10 to oct:‘al‘
Simplify xy+xz+yz.
Define combinationhal circuit.
Write short notes-on decoder.
What is sequential circuit?
Convert JK flip flop i.ﬁto T flip flop.
Differentiate counter and register.

What is the primary disadvantage of an asynchronous
counter?

What are the steps for the design of asynchronous
sequential circuit?

What are hazards?




[image: image2.png]11.

12.

@)

(b}

(a)

®

PART-B (5x16=80 marks)

(i) Convert the following hexa decimal
number to decimal number (CD47)u and

(BIAC)x .

(i) Convert the following
(11014.11)10=(
And (10101101.111)w0= (

Or

Simplify the following

@ (A+B+AB)A+B)

(i) AB+ABH+CHB1B+0)

)2

(iii) A’B6+AB'C+ABC’+AABC

(iv) AB+ACY+HABC)AB+C)

Simplit')fV the Boolean function

@ Piwxy2=5(0,1,2,4,56,8,9,12,13,14)

() Fwxy,z=5(1,3,7,11,150+74 0,2.8,12)

Design and
comparator.

Or

explain

4 bit

magnitude
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(1)  Write short notes on
(a) State equation
(b)  State table
(¢) State diagram
(i) Write HDL description of D latch.
Or

Explain in details about state reduction and
assignment procedure.

()  Explain briefly about. up-down counter in
detail.

(i) Write HDL behavioral description of 4 bit
universal shift register.

Or

Write HDL structural description of 4 bit
universalshift register.

Explain in detail about race free state
assignment with illustrative example.

Or

Explain in detail about various hazards.
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